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1. Answer the following questions : - 2x4=8
(8) Prove that, P(A) = 1 = P(A).
(b) What .do you mean by irr;egular Vériation ?
(c) What is a sample statistic ?

(d) What is power of test ?
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2. : AnSwer_ the folllowing. quegﬁons-:

@

- (b)

©
@

- independently ?

The odds against A solving a certain problem

are 4:3 and odd in favour in B solving the

same problem are 7:5. What i probability
if they try

that the problem is ‘solved

‘What is hypothesis testing ?

What are the two types of errbrs 9

3. Answer any two of the following questions o

@

| - | 10x2=20
Explain the principle of Least square method.
Also estimate the trend value by 1 ¢ Squaré
-method from the following informae oo g
estimate the production for 2015 ang

2020 :

.Year

e

2010 (2011 {2012 [,

2014

| Gn <000 ton)

18 21 . 25‘\27 T

e,
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- 5x4=20
Explaln the circumstances under which
- Poisson " distribution is used.

(®)

©
d

4. Answer the ‘followin'g questions :
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Construct simple average price relative index

number using arithmetic mean and geometric
mean from the following information :

Profit (per week) | 2010 | 2012|
Groceries 1,50,600 | 1,70,800
Cosmetics - 70,000 * 82,000

Stationary items | 12,000 [ 10,800

20,000| 18,600|

Utensils

Explain cluster sampling in detail.

What ate the different steps for _h_ypothesis :
testing ,? Explaln :

16x2=32

(a) What is normal distribution and its impor-

tance ? In an intelligence test adnﬁﬂstcred to
1000 children, the average score is 42 and
standard deviation is 24. Find

(i) The number of children exceeding score
60

(ii) The number of children With score
between 20 and 40. 6+5+5=16
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- probability of récovering
~ 6 loans sanctiopeq i

L ©

(@)
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- distribution is useq g4 its

. according to repaymen; s

-and extent of Variation ?

| Explain -ﬂ‘le Paired t-test.
‘an item in gjx shops bef

or
Explain the Condition unde, Which Binomial
Properties. If the
8 loan amount
edule is 0.8 for

probability. of Tecoverin

. § category also
calculate the €Xpected Number of riclgvel'ies

4+4+8=16
the sales data of

Ore and afier a

special promotion campaj are as under.

Shops | A| B
Before| 53| 23 _
After 5‘81 29

Can the campaign pe ¢, ed as )

Test at 5% leve] of Signiﬁcahce ¢ succ;:sgs7

=5 Vogs = 2975

V=2 6+10=16
Or

What is chi-square test ?
- A milk producers

At are its yges 7

w
whether the preference patte lg?es to test
Consumers

200

for its products is depedent on income. lev:,llls,. ’.
A random sample 500 individuals give the

following data below. Can you conclude the -

preference patterns are indepgnc%nzt ‘otf Su;.
come levels ? (X2 = 5.99 for v =2 at 5%

level of significance).
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Income | product A | Product B | Product C
Low 160 300 140.
Medium 140 100 - 160
| 400 300
: 00
= ‘ : - 6+10=16
200




